FgArea: [0 ]
NC11 G3-2
2025-05-18 (Day 6)




2.5

2.0

- o

> >
T T T T T
(=] (=] (=] (=] (=]
(=] o (=] (=] o
Lo < ™ N —

—0— 4 VN
T
3.0

100
80 -
60 -
40 -
20 -
0

4.0 4.5 5.0 5.5 6.0

3.5

3.0

VO
2.5

—-— VI

2.0

3 WN

—0—
®
T
2.0

@
T T T T T
o o o o o o
o o o o o o
© o < ™ N —

75 A
50
25 A
0

T T T T
L o 1 o
~ » & S
- = = =

o

H ©

Tp)

0

o

©

o)

<

o

<

= | o

= [

o~
¢ |o
™

80 -
60 -
40 -
20 -
0

6.0

5.5

3.5 4.0 4.5 5.0

3.0

Vo
2.5

T T T T
o o o o
© < N o
o
- 2
o
Te}
o
"
o
<
o
<
[[p)
™
o
™
=
= o
T N
+ o
N

—-— VI

2.0

600 -
500 -
400 -
300 -

200 -
100 -

300

250

200

150 -

100

50 A
0

—&— 4 0IR

3 0IR

——

-—@— 2 0IR

1 0IR

——

0.1 frmm e e e

0.7 -
0.6
0.5 A
0.2+

0.0

5.5 6.0
800 900

5.0

4.5
700
DU

4.0
600

3.5
4 V| vs Du

500

3.0

4 FR

—0—

5.25 5.50 5.75 6.00

5.00

4.50 4.75

4.00 4.25

400

450 -
400 -
350 -
300 -
250 -
200 -

0.54 -
0.52 -
0.50 -
0. 48 -
0. 46 -
0. 44 -

—0— 4 setVl
 _

525 5.50 5.75 6.00
NA)

5.00
d
4 (fgArea =

4.50 4.75
ECO

4.25
—8— ECI*10%

4.00

0. 42
0. 40

6.0

5.0 5.5
900

4.5
800

4.0
700
DU

2.5 3.0 3.5
3 VI vs Du
500 600

2.0

400

3 FR

65
60
55
50 -
45 -

40 -

35 -
3500 -
3250 -

5.75 6.00

50

5.

5.25

5.00

4.50 4.75

4.00 4.25

550 -
500 -
450
400
350 -
300 -
250 -

3 setVI

——
L

3000
2750
2500
2250
2000

5.50 5.75 6.00

4.50 4.75 5.00 5.25
d
3 (fgArea = NA)

4.25
—@— ECI*10%
ECO

4.00

6.0

5.5
900

5.0
800

4.5
700
DU

4.0
600

3.5
2 VI vs Du

500

3.0

75 A
70 A
65
60 -
55 -
50

45 -
3500 -

5.25 5.50 5.75 6.00

5.00

4.50 4.75

4.00 4.25

400

550 -
500 -
450 -
400 -
350 -
300 -
250 -

T T T T T T T
o o o 2] o o o
Irs) IN S ~ rs) I S
© © o o T} o) i)
o o o o o o o
o
s
N
T T T T T
IN o © © <
© %) i) o o
o o o o o

2750
2500
2250
2000 -
1750

5.50 5.75 6.00

4.75 5.00 5.25
d
2 (fgArea = NA)

4.50

ECI*10%

4.25
ECO

—0—

4.00

6.0

5.0 5.5
900

4.5
800

700
DU

3.0 3.5 4.0
1 VI vs Du
500 600

2.5

2.0

400

FR

3750
3500
3250 -

5.75 6.00

5.50

25

5.

00

5.

T
4.50 4.75

4.00 4.25

600 -
500 -
400 -
300 -

0.75 A
0. 70
0. 65
0. 60

3000 -
2750
2500
2250 -
2000

5.50 5.75 6.00

25

5.

0

d
1 (fgArea = NA)

4.50 4.75 5.0
ECO

4.25
—8— ECI*10%

4.00

0. 55 -
0. 50 -

>
)
[0}
(]
N
+
T T T T T T T
o o Lo o Lo o Lo
~ ~ © © Lo o <
>
o)
[0}
(]
+ @
T T T T
o o o o o
[=2] 0] ~ © o

3600
3400
3200

3000
2800
2600
2400
2200
2000

6.0

3.5 4.0 4.5 5.0 5.5

3.0

2.5

2.0

5.0 5.5 6.0

4.5

2.5 3.0 3.5 4.0

2.0

2.5

2.0

5.0 5.5 6.0

4.5

3.0 3.5 4.0

2.5

2.0




- L
)
=
*
- o
T T
oo
T T T T T T T T
N o <) © < o~ o [}
~ ~ © © © © © [Te)
- L
o
=
*
=)
T T
oo -
T T T T T T T T
I o oo © < o~ o o
~ ~ © © © © © o)
- L
)
*
- o
T T
oo
T T T T T T T T
o~ o o © < o~ o 0
~ ~ © © © © © te)
- L
)
=
*
- o
T T
oo [
T T T T T T T T
N o <) © < o~ o [}
~ ~ © © © © © [Te)

6.0

3.0 3.5 4.0 4.5 5.0 5.5

2.5

2.0

2.5 3.0 3.5 4.0 4.5 5.0 5.5 6.0

2.0

6.0

3.0 3.5 4.0 4.5 5.0 5.5

2.5

2.0

3.0 3.5 4.0 4.5 5.0 5.9 6.0

2.5

2.0



3500

3000

2500

2000

1500

1000

500

Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]

xxxxx

xxxxx

Warning: col [ EcFgro’,

"EcPltng

'] is missing

25 5

0 75

100

125

150

—>— EcFzExp
—>¢— ECdef
water_ec |

175



Plot [’ ECopt’]

3500 7 —@— ECopt

3000 -

2500

2000

1500 ~

1000

500 -

0 25 50 75 100 125 150 175
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